FgArea: ['W1']
NC11 P6
2025-06-06 (Day 62)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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PE6AW

BrE) | GEBAK @) | ERE(EH/AR) | EREE (G/R) [ XS R

08:00 320 160.0 0.314 5| FEAC08:00 KEFEFE (RAEEE)
08:35 320 160.0 0.314 5| FHA@08:35 KENFEF (kA{EEEE)
09:05 320 160.0 0.314 5| FiHfe09:05 KEFEF (RFEERES)
09:35 320 160.0 0.314 5| FEAe09:35 KEFEFE (CRAMEEE)
10:10 320 160.0 0.314 5| FHA@10:10 KENFEF CGRAMEEEE)
10:40 320 160.0 0.314 S| FHEA@10:40 KENFEF (CGRAMEREE)
11:10 320 160.0 0.314 5| FEAe11:10 KEIEFE CGRAMFESE)
11:40 320 160.0 0.314 = FhHEA@11:40 KENFZEF (GRAMEEEE)
12:10 320 160.0 0.314 | FiHfe12:10 KRHEFEF (REAERKS)
12:40 320 160.0 0.314 5| FEAe12:40 KEIEFE CGRAMFESE)
13:10 320 160.0 0.314 E(  FiHRe13:10 KREFEF CGRAERE)
13:40 320 160.0 0.314 5| FHEAe13:40 KHEF (KAEESE)
14:10 320 160.0 0.314 5| TiHe14:10 RHEF (RAEZRSE)
14:40 320 160.0 0.314 5| FHA@14:40 KENFEF CGRAMEEEE)
15:10 320 160.0 0.314 5| FHRe15:10 KENEF CGRAEES)
15:40 320 160.0 0.314 5| FEAe15:40 KEIEFE CGRAMHESE)
16:10 320 160.0 0.314 5| FEAe16:10 KEIEFE CGRAFEESE)
23t 5440.0 (170%) 2720.0 3 HKEC: 2080.0, PH: 6.5

#HEKRECE (2170.0 vs 4758.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

P6AW_W1, Day=62 (2025-06-06)
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P6AW

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:25 320 160.0 0.314 F BRige07:25 Ba (GRAERSE)
08:00 320 160.0 0.314 |Z=| 1Ri%e08:00 Bz (REAEZEHSE)
08:50 320 160.0 0.314 |Z=| 1Ri%e08:50 Bz (KREEZEHE)
09:25 320 160.0 0.314 FA| 1BRi&@09:25 B3h (KA{EREE)
10:00 320 160.0 0.314 FA| 1Bi&@10:00 B3h (KRAFEREE)
10:35 320 160.0 0.314 FA| 1B2i%@10:35 B3h (KRAIEREEE)
11:10 320 160.0 0.314 FA| 1BRi%@11:10 B3h (RAERSE)
11:45 320 160.0 0.314 FR| 1BRi%@11:45 B3h (kAEREE)
12:20 320 160.0 0.314 FA| 1Bi%e12:20 B3 (KRAEREE)
12:55 320 160.0 0.314 FE| 1BRi&@12:55 Bzh (RFAEREE)
13:30 320 160.0 0.314 |2 =| 1Ri%e13:30 B3 (REZRE)
14:05 320 160.0 0.314 |Z=| 1Ri%e14:05 B3 CGREEZERE)
14:35 320 160.0 0.314 |Z=| 1Ri%e14:35 B (KREEZERE)
15:20 320 160.0 0.314 |2 =| 1Ri%e15:20 B3 (REAEZEBE)
16:10 320 160.0 0.314 |z =| 1Ri%e16:10 Bz CGREAZERE)
21t 4800.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE ‘
MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2143.0 vs 4775.0) 45



P6AW_W1, Day=61 (2025-06-05)
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P6AW

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

08:05 320 160. 0 0.314 F|  {Ri%008:05 BHah (RF{EESE
08:35 320 160. 0 0.314 | 1Ri%e08:35 BE1 (RFAEREE)
09:10 320 160.0 0.314 = RRiB009:10 Bz (RAKEE)
09:40 320 160. 0 0.314 E BRi%e09:40 BE1 (RAERE)
10:10 320 160.0 0.314 F[ BRige10:10 Bz CGRAERESE)
10:40 320 160.0 0.314 = RRiB010:40 Bz (REAKEE)
11:10 320 160. 0 0.314 El BRige11:10 Bz CGRAERESE)
11:40 320 160. 0 0.314 = RiB011:40 Bah (GRAEESE)
12:10 320 160.0 0.314 =l RiB012:10 B3 (REAKEE)
12:40 320 160.0 0.314 5| RiRe12:40 Bz (GRAHERESE)
13:10 320 160.0 0.314 S| {Ri%e13:10 Bz (RAERSE)
13:40 320 160.0 0.314 | Ri%e13:40 B (GREfRREEE)
14:10 320 160. 0 0.314 E BRige14:10 Bz CGRAEESE)
14:40 320 160.0 0.314 = RiB014:40 Bah (RAEESE)
15:10 320 160.0 0.314 =l RRiBe15:10 Bz (REAEESE)
15:40 320 160.0 0.314 =l RRiB015:40 Bz (REAKEE)
16:10 320 160. 0 0.314 El BRi&e16:10 Bz CGRAEREE)
23t 5440.0 (170%) 2720.0 FEWHKEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2187.0 vs 4598.0) i3
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P6AW

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

08:00 320 160.0 0.314 5| {Ri%@08:00 Bz (FAERSE)
08:30 320 160.0 0.314 = {RRiB008:30 B (FRFAfREE)
09:15 320 160.0 0.314 = RRiB009:15 Bz (REAEEE)
09:50 320 160.0 0.314 = RRi8009:50 Bzh (REAEEE)
10:25 320 160.0 0.314 =l RRiB010:25 B (REAEESE)
10:55 320 160.0 0.314 = {RRiB010:55 Bz (REAEEE)
11:25 320 160.0 0.314 = BRiBe11:25 B (REAERESE)
11:55 320 160.0 0.314 =l {Rige11:55 B3 (RAERSE)
12:25 320 160.0 0.314 =l RRiBe12:25 Bz (REAKEE)
12:55 320 160.0 0.314 = RRiBe12:55 Bz (REAEEE)
13:25 320 160.0 0.314 F BRige13:25 Bz CGRAERESE)
13:55 320 160.0 0.314 = {RRiB013:55 B (RFAKEE)
14:25 320 160. 0 0.314 E BRige14:25 Bz (GRAERESE)
14:55 320 160.0 0.314 E BRige14:55 Bz GRAERESE)
15:25 320 160.0 0.314 =l RRiB015:25 B (REAKEE)
15:55 320 160.0 0.314 = RRiBe15:55 Bz (REAEEE)
2it]5120.0 (167%) 2560. 0 323 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAE RS (296.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

FE[ERECE (2240. 0 vs 4490.0) i3
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P6AW

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:30 320 160.0 0.314 5| {Ri%@07:30 Bz (FAERSE)
08:05 320 160.0 0.314 = {Rig@08:05 B (KRAERSE)
08:50 320 160. 0 0.314 E  1BRi&e08:50 Bzl (RAEREE)
09:25 320 160.0 0.314 5| {Ri%e09:25 Bz (FRAERSE)
10:00 320 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:35 320 160.0 0.314 = {RRi8010:35 Bz (RAEEE)
11:15 320 160.0 0.314 =l Rige11:15 Bz (GRAEESE)
12:05 320 160.0 0.314 =l {Rige12:05 B3 (RAERSE)
12:35 320 160.0 0.314 S| {Rige12:35 B3 (RAERSE)
13:05 320 160.0 0.314 |Z=| 1Ri%e13:05 Bz (GREEZEHE)
13:35 320 160.0 0.314 [Z=| 1Bige13:35 Bzh (REERESE)
14:05 320 160.0 0.314 [Z=| BRige14:05 Bzh (REERESE)
14:35 320 160. 0 0.314 |Z=| BRige14:35 Bz (REAERESE)
15:05 320 160.0 0.314 [Z=| 1Bige15:05 Bzh (REERSE)
15:35 320 160.0 0.314 [ =| 1BRige15:35 Bzh (REERESE)
16:05 320 160.0 0.314 [Z=| 1BRige16:05 Bzh (REERESE)
2it]5120.0 (167%) 2560. 0 323 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

T [ERECE (2233.0 vs 4457.0) 5
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